H & 0l & AHS B Ml A

A M2
HH: J|=MEST(AISISX/JI=MEEE)
el J=MeEs8d (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
S F 65,325,248 62,651,106 2,674,142
= 55,850,318 55,692,343 157,975
Xl 220,346 220,346 0
Al 4,648,718 4,617,659 31,059
- 4,605,866 2,120,758 2,485,108
I EMESEH (MBS /I ZUELE) 53,347,950 53,324,238 23,712
= 47,804,499 47,804,499 0
Al 3,868,770 3,845,058 23,712
T 1,674,681 1,674,681 0
=l 53,347,950 53,324,238 23,712
= 47,804,499 47,804,499 0
Al 3,868,770 3,845,058 23,712
- 1,674,681 1,674,681 0
NASFUSERH 135, 152 126,640 8,512
Al 135,152 126,640 8,512
301 LtENZF 135,152 126,640 8,512
Al 135,152 126,640 8,512
02 AR EZAGIZ(FHAAE, RLTHR) 135,152 126,640 8,512
OXtHn Sl ZE 95,152,000 95,152 86,640 8,512
Al 95,152 86,640 8,512
S AXZAY 35,200 20,000 15,200
Al 15,200 0 15,200
T 20,000 20,000 0
301 EtE2E = 35,200 20,000 15,200
Al 15,200 0 15,200
- 20,000 20,000 0
02 A SBEAEZ2(HAANS, XLTHE) 35,200 20,000 15,200
ORADIN ¥ MASE S & XA (Al
15,200,000& 15,200 0 15,200
Al 15,200 0 15,200
MASZF0 Xt 23HASISX /I =ME S A 9,272,744 9,104,350 168,394
= 8,045,819 7,887,844 157,975
Xl 129,218 129,218 0
Al 757,166 749,819 7,347
T 340,541 337,469 3,072
HASE NEAY et 9,272,744 9,104,350 168,394
= 8,045,819 7,887,844 157,975
Xl 129,218 129,218 0
Al 757,166 749,819 7,347
- 340,541 337,469 3,072
KNSR HEE SALA SXl==Z 30,336 37,468 ANT,132
Al 21,559 26,498 24,939
- 8,777 10,970 A2,193




FA AEE
M HASHQ X 2SHAREX/JIZ4EEE)
Rl NASE UEAY 2et EER=E)
SN - B - S2A(BH) - HSAY 0 &y ol B o HIRS
307 2Ito1d 30,336 37,468 AT,132
Al 21,559 26,498 A4,939
- 8,777 10,970 22,193
10 AlISAAIEEE 22X 30,336 37,468 AT R
OXIS X2 HIE! SAHAF SX4=E
d&d 30,336,000 30,336 37,468 AT7,132
Al 21,559 26,498 24,939
- 8,777 10,970 22,193
ZE2sEAeTsAHAE=s5 N3 1,768,846 1,619,433 149,413
= 1,591,961 1,457,488 134,473
Al 123,819 113,361 10,458
aE 53,066 43,584 4,482
307 2IZto1 ™ 1,768,846 1,619,433 149,413
= 1,591,961 1,457,488 134,473
Al 123,819 113,361 10,458
aE 53,066 48,584 4,482
11 Al SXIAIEE 1,768,846 1,619,433 149,413
O3 M=HZ | 3E 74,478,000 74,478 70,261 4,217
= 67,030 63,235 3,7%
Al 5,213 4,918 295
- 2,235 2,108 127
O3 2 =A%t I 3 64,194,000 64,194 61,122 3,072
= 57,774 55,009 2,765
Al 4,49 4,279 215
- 1,926 1,834 R
O%ELH%E%ﬁI&(ﬂ@?IOISP)
Z3 1,314,092,000& 1,314,092 1,199,824 114,268
= 1,182,683 1,079,841 102,842
Al 91,986 83,988 7,998
- 39,423 35,995 3,428
OFE L MEH E (XA =1)
3 316,082,000 316,082 283,226 27,856
= 284,474 259,403 25,071
Al 22,126 20,176 1,950
- 9,482 8,647 835
NedEXNE=S 26,113 0 26,113
= 23,502 0 23,502
Al 1,828 0 1,828
aE 783 0 783
301 LEENS 26,113 0 26,113
= 23,502 0 23,502
Al 1,828 0 1,828
- 783 0 783
01 Al EEAGZ(2REXMR) 26,113 0 26,113




K ZHt
M =0l T2 LSHABISX /I ZME D)
chel: = A 23 (Shol: % 2)
S - BB GRA(3) - NSAY - BAS 0l & HIDEZ
SR 26,113,002 26,113 0 26,113
2 23,502 0 23,502
1,828 0 1,828
783 0 783
WSS (MESFD OIEHIIE 2,482,036 0 2,482,036
PN E(MSSID 2,482,036 0 2,482,036
|2X2 Brel(ME R 2,482,036 0 2,482,036
eSS 2,482,036 0 2,482,036
NERCE=TI= 2,285,863 0 2,285,863
O204 JhARHE SHEHoH
OIXt 15,286,002 16,287 15,267
Ootpad M orm a2 Y| (HufH) EBEH gl
OIXt 810! 1 1
O TED2
451,485, 5002 451,486 451,486
O20p4 X4 Kl Zszon 2 Ofx
14,0802 15 15
O20e4 RHet A2zl 2 0IXt
939,9902! 940 940
@V IEREEEEEI o4 X 0
3,763, 2502 3,764 3,764
O2oo4 I 2ZCIZ2IAL 2124H] 01X
48,7002 49 49
O2004 204 ( s zrol
1,808,400,580 1,808,401 1,808,401
O20o4 SHAHERI(
5,940,000 5,940 5,940
2 Al - CHISZ28ta 196, 153 196, 153
O2ooae B Zgzon 9 Of%
37024 49 49
O204 JhA2HE 2t gz o
OIXt 3,275, 5202 3,276 3,276
Ooooad XHe22
3, 15,5402 3,116 3,116
O2paE X4 XHEHA ZszroN 9l 0
Xt 4,2309! 5 5
O2oe4 RHet A2zl OIXt
281,9902 28 o8
O2oo4E XIGKHEME = g
o4 gl 0% 3,140 4 4
O2opaE 2| 220122/ Al Hazroy
940,930 941 941
OooeaE 0| 220122IA | OIXt
12,1702 13 13
OotpaE LI E szl g o
Xt 2,362,620 2,363 2,363
O2oeas S THY| Xt
12,751,100 12,752 12,752




SN MERID
B WREE(MEDE)(OIEIIE)
Sl PEIS(MBEID (crop:mel)
SA - B S(BH) - MRAY - BES ofl b2y /iR ClImE=T]
O20244 R DEH| DaAXo4 % OIX
99,400 100 0 100
0202451 MHZ0|(LUHTX) TBTY
140,591,500 140,592 0 140,592

020243 HAZ RSO (AlE) TBHEH
660,000 660 0 660




